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* When making a measurement the last digit is always
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The Sig Fig Rules E Examples: How many sig figs are in each number? :I
1) All non-zero numbers... ' 111500 2) 021 3)0 4) 0.0039 ]
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| 5)50000  6)0.800 7)0.000360 8)1200.00 |
Ex: 321 has 3 sig figs ! ({) (3 ) (5 ) (’? ) '
2} Zeroes that occur... e e ;
: Multiplying and Dividing
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Ex: 0.0085 has i sig figs Adding and Subtracting
5) In a decimal number... . When.addmg or subtracting numbers, our final
answer is always ...
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Worksheet 1.3 — Significant Figures

1) Counting sig figs: write down the number of sig figs each piece of data has:

a) 0.0021m d) 410 kg
b} 200,000 m® e} 0.0002s
¢} 21.200s f) 91.0001 m?

2} Multiplication with sig figs:

a} 92.45m 1.0l m= e) 0.00698 m*- 100 cm =
b) 0.0024N-4.24s= f) 2001 kg - 12.6 mfs =
c) 4000 kg - 2.001 m/s g) 610N -4002s=

3) Division with sig figs:

a) 12m+312s= d) 1800 kg+410s=
b) 69.4 kg + 38.888s5= e} 0.102 m+100 ms =
¢) 0.012 m?+0.0002 s = ' f) 1001 m*+ 40ks =

4) Addition and subtraction with sig figs:
a) 14m+122m = d) 69.455 +19.35=
b) 0.012 kg + 1.0046 kg — 0.0064 kg = e) 200.1 m-128.28 m =

¢) 12.46 kg +9.82 kg —6.666 kg =

5} Chain calcs with sig figs: write down the number of sig figs each piece of data has:

a) (0.045m-9.92kg)+ 16.865s=

b} (9000m:4.01m}-1.002m=
¢) {(0.21m-6.23s)-1.002m=

d} (18.01m-0.41m)+(14.62kg- 125}~



